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é. There ore 24 students in Jake's class who have brown eyes, This represents the 75% of the
students in the closs. How many students are there in Jake's closs?
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7. There were 72 light bulbs delivered 1o the hardware sfore lost week, If 12,5% of the fight
bulbs were delivered on Monday, how many light bulbs were delivered on Mondoy?
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8. The graph represents the favarite sports of the fotal 10 s‘ludem‘s at Bowue M die Schooi
What stalement is best supported by the graph? T’ \/ PO 5 X C; m é{/ﬁ

A More studenis like soccer better than

Favorite Sport baskethall and dance combined.
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C tess than 250 sfudenis say baseball is their
favorite sport. '
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0 The difference between the number of
students who soy soccer s their favorite ond the
number who say baskeiball is their fovarite is only

5siudents.




2. Justin is buying a cell phane that has a regular price of $149. The celi phone is on sale for
15% off the regular price. Whaot is the sale pnce of the cﬁl phene?
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10. in the Stoneridge apartment complex, 35% of the apariments have one bedroom. If
there are 49 one-bedroom upariments, what is the fofal number of apariments af
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11. lon eamed $70 babysiiting and wants fe buy ko
The price of the skateboard is $48 and the sales fox is B%. gfow much more wi Il he %ed tg

buy the skateboard? . o, G"OX -, ﬂ
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14. Teresa is huiiding o scale maodeal of the JPMargon Tower in Houston,
‘ 1.5inches recresents 61 metars. Since the cotual bullding is 205 meters fall, whot heighi

should Teresa build the mpdel?
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17. Jorge bo UGHJM of jalapeno peppers from the farmer's markat, How many

ouncas of peppers did Jorge buy?f
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18. Sophie can read 40 pages in 20 minutes. Af ihis rate, how long will it foke to read 480
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12. The tabie below shows the price of sandwiches af o local deli. Samantha orders aroast e emmrem—— A 8 hours B 240 hours '\ijiours D 160 haurs
beef sandwich, and Derrick crders a chicken wrap. Tax is 6% and they want o leave a 20% T e
np Use estimation to determine how much the fofal will be, \,lr O Lt (D‘/O & O WM ,’]
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/’3/On Friday, Alyssa's fomato plant waos 6.2 inches tall. One!QzQek late qpmze had- '5 w “)0 € 12in LQ o {Q/_Em‘f; i,d{ﬁ j ‘fﬁ;
q L,C; 2 - g ws

increased by 78%. How tfall was the plant offe@week?

A 4.83610n B .78 inches

SKAP X

14. You go fo the mall and wanf to buy a shirt for $14.50 and o palr of jeans for $35. There s

7.5% sales tax rate on clothing, ¥ you give fthe sales c:ssocu:ﬂe é'SS _how much chonge wilk
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1. Benita answered 85% of the test questions correctly. If she answered S guestions incorrectly,
how many questions were on the test?
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2. Elliot ordered 3 chicken sandwiches at $1.90 each, 2 orders of onion rings at $1.75 each, and
3 botties of water at $1.50 each. If Ellict had a coupon to save 20%, how much is his discount?

A 3$0.52
B $1.37
C $2.74

D $10.96

3. Katie spent $20 at the homecoming game on the following items:

o 3 ribbons at $1.50 each

« 1 bag of popcorn for $3.00
= 2 tickets at $5.00 each

» 1 drink at $2.50

What percent of the $20 did Katie spend on ribbons?

A 22.5%
B 20%
C 15.5%

D 4.5%
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